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5110-A 

M.A. (FINAL) EXAMINATION, 2019 

ECONOMICS 

Paper – V-A 

INDUSTRIAL ECONOMICS 

Time: Three Hours 

Maximum Marks: 100 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 20] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj 50 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 50] 

Answer five questions (250 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

 
           PART – C ¼[k.M & l½¼[k.M & l½¼[k.M & l½¼[k.M & l½      [Marks: 30] 

Answer any two questions (300 words each). 

All questions carry equal marks. 

    dksbZ nks iz’unks iz’unks iz’unks iz’u dhft,A izR;sd iz’u dk mŸkj 300 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A @ @ @ @ [k.M[k.M[k.M[k.M& v& v& v& v 

Q.1 Answer all the questions – 

 lHkh iz’uksa ds mÙkj nhft, & 

 (a) Define firm. 

  QeZ dks ifjHkkf"kr dhft,A 

 (b) What is location coupling? 

 lg LFkkuhdj.k ls D;k rkRi;Z gSA 

 (c) Explain Mark – up price? 

  ekdZvi ewY; fu/kkZj.k dks le>kb;sA 

 (d) Explain Horizontal Merger. 

  Lkery lafoy;u fdls dgrs gSa\ 

 (e) Who initiated economic reforms for the first time in India? 

  “kjr esa vkfFkZd lq/kkjkas dk izkjEHk loZizFke fdlus fd;k Fkk\ 

 (f) Define Globalisation. 

  oS’ohdj.k dks ifjHkkf"kr dhft,A 

 (g) What are the main sources of finance for large industries? 

  o`gn~ m|ksxksa ds fy, foÙk ds eq[; L=ksr D;k gSaa\ 

 (h) What is meant by the ploughing back of Profit? 

  ykHk ds iqufoZfu;ksx dk D;k vFkZ gS\ 

 (i) When was Steel Authority of India (SAIL) established? 

  LVhy vkWFkksfjVh vkWQ bf.M;k (SAIL) dh LFkkiuk dc gqbZ Fkh\ 

 (j) Where was the first Cotton Textile Industry established in 1818? 

  1818 esa igyk lwrh m|ksx dkj[kkuk dgk¡ LFkkfir fd;k x;k Fkk\ 
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PART – B @ @ @ @ [k.M[k.M[k.M[k.M    &&&&    cccc    

UNIT –I@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – I 

Q.2 Critically analyse Alfred Weber’s Theory of Industrial localization? [10]  

 vYÝsM oscj }kjk izfrikfnr vkS|ksfxd LFkkuhdj.k ds fl)kUr dh foospukRed leh{kk dhft,A 

Q.3 What are economies of scale? Distinguish between internal and external            

economics. [5+5=10] 

 iSekus dh cprksa ls D;k rkRi;Z gS\ vkUrfjd ,oa cká cprksa esa vUrj dhft,A 

UNIT –II@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – II 

Q.4 Describe different methods of Product Pricing.   [10] 

 mRikn ds ewY; fu/kkZj.k dh fofHké jhfr;ksa dk o.kZu dhft,A  

Q.5 What are the various types of Industrial Mergers? Explain the main characteristics of 

these mergers. [5+5=10]  

 fofHkUu izdkj ds vkS|ksfxd foy; D;k gS\ bu foy;ksa dh eq[; fo’ks"krkvksa dh O;k[;k djsaA 

UNIT –III@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.6 Critically examine the recent trends in Industrial Growth? [10]  

 “kjrh; vkS|ksfxd fodkl dh orZeku izòfr;ksa dh vkykspukRed leh{kk dhft,A 

Q.7   What are the economic benefits of globalization? [10] 

 oS'ohdj.k ds vkfFkZd ykHk D;k gSa\ 

UNIT –IV@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.8 What do you mean by Ratio Analysis? Explain the Profitability Ratios. [5+5=10]  

 vuqikr fo’ys"k.k ls vki D;k le>rs gaS\ ykHknk;drk vuqikrksa dh O;k[;k dhft,A 

Q.9 Critically analyse the objectives, organization and functions of Industrial Development 

Bank of India (IDBI) [10]   

 “kjrh; vkS|ksfxd fodkl cSad ds mís’;] laxBu ,oa dk;ksZa dh vkykspukRed foospuk dhft,A 

UNIT –V@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.10 Discuss the main problems of cement industry. Give suggestions to remove these 

problems. [5+5=10] 

 lhesaV m|ksx dh eq[; leL;kvksa dk o.kZu dhft, ,oa bu leL;kvksa dks nwj djus ds mik; fyf[k,A 

Q.11 Analyse the development, present status and problems of Iron and Steel Industry of 

India. [10] 

 “kjr ds yksgk ,oa bLikr m|ksx ds fodkl] orZeku fLFkfr ,oa leL;kvksa dh foospuk dhft,A 
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PART – C @ @ @ @ [k.M[k.M[k.M[k.M    & & & & llll 

Q.12 What do you mean by Industrialization. Discuss the impacts of 

industrialization. [5+10=15]  

 vkS|ksfxdj.k ls vki D;k le>rs gSa\ vkS|ksfxdj.k ds izHkkoksa dk o.kZu dhft,A 

Q.13 What is the importance of productivity measurement for Industrial Sector and entire 

Economy? Explain. 

 vkS|ksfxd {ks= rFkk lEiw.kZ vFkZO;oLFkk ds fy, mRikndrk dk eki D;k gS\ le>kb,A 

Q.14 Write a note on impact of New Economic Policy on Industrial Labour Structure and 

Employment. [15] 

 ubZ vkfFkZd uhfr ds vkS|ksfxd Je <kaps o jkstxkj izo`fÙk;ksa ij iM+us okys izHkko ij ,d fVIi.kh 

fyf[k,A 

Q.15 What is meant by organized capital market? What efforts have been made to activate 

the capital market in India? Explain. [5+10=15] 

 laxfBr iw¡th cktkj ls D;k rkRi;Z gSA Hkkjr esa iw¡th cktkj dks lfØ; djus ds fy, D;k iz;kl fd, 

x, gS\ le>kb;sA 

Q.16 What is the importance of Village and Small Industries in India? Also describe the 

financial facilities and incentives given to them by the government? [7+8=15] 

 xzkeh.k ,oa y?kq m|ksxksa dk Hkkjr esa D;k egRo gS\ ljdkj }kjk bUgsa dkSu lh foÙkh; lqfo/kk,a ,oa 

mRizsj.kk,a nh xbZ gSaA 
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